_L-L—

TAx

7

‘-\«1-

ﬁ.

SHe

¥

EEREA)F

ik %% S 110 B & B

Cwd PR R R L

TR RBERITA SR T B AR ERFREY P RARFEFB L > BT A
DEREREE D FREALRLEITNLPNTF o
o pE e
- BRI ERE R P L PSR ETLE % 2L LT
SN FAEARE T h44§*&$%ﬂﬁﬁﬁ€§hﬁﬁ*k§ EEE -
Z N REHIEERTE ?%’iﬁgﬁ?gﬁ@ﬁagifﬁ‘ﬁ: (T3 32 = BMETE & 4 o
S EE R BAFE L2 R E(REVE |- %2 - mRE *Fl)
B SRR
- ~110# 8% 252 27Tp (A¥p=327 ) HEpr=9p3 12/
S REP R BERRE S EFIU AR N L B R I
L ~EdpE
EW AR |EP e B WP R el R
1LEFRHE (1) %42 REHBTRLCE -
(i) ]ﬁ“b’hfw‘"ﬂ ga!_“ F‘E/ﬁﬁ:
" - 2.% IZ;XJT%LF} PR (AT 4 ) BpFdli 3 7 S TR
gﬁi] ’f&F’EE’ ,\‘ LB R ‘ifT‘L%E&Lﬁ&E##&ﬁﬁt‘gg o
3. % ?%F'J o
4, =1 A B 51 FiE rFT o
on gl ek po [LEERAET S (NFGER TR BAFT R e
FFFL i | R IIRE 2. € BFTIAEIL E P o
P i TN TE g ST g e
Fit“ )é,flfljffzi é}/ﬁt*/‘iﬁ%& . %;T?E %:Q g’}& ' % 4%%%,@/,,% l(\g}l’@%g'};)?ﬁ \J.
¥ =X I"T?fk RIIPFF 2 PP
% - P PRFT s Pidarr ] [374 ] 09 : 00-09 - 40
8 /95 ¥ - Hh=x PRI st 2 [ 4] 09 : 50-10 - 30
%= F=x 5311 [3#72 ] 10 - 40-11 + 20
¥ Hh=x 55512 [E4] 11 :30-12 : 00
% - ¥ #rri] [#74 ] 09 : 00-09 : 40
8/96 5= Hh=x et [H2 ] 09 : 50-10 : 30
%= P Hrr] [#72 ] 10 : 40-11 : 20
%z $h=x B2 [E2] 11 :30-12: 00
5 - = v 2FT s gERF] [374 ] 09 : 00-09 - 40
/97 % - = v 23T FAFI) [54 ] 09 : 50-10 = 30
RN AT ] [374 ] 10 40-11 : 20
5w H#=x w12 [£4]) 11 :30-12 : 00




AT A

(% & Siihr 22 3)

1.3 - 1o
- B
Fo BNt K- @ o ZdpkE TALE

kg (F X FwFk)e

TRI- A T - BT F- e
Jfﬁﬁﬁii%ﬂ ° al.
HE RPN SBFEAR - F o ﬁ
Sha- E(H K Sk d) w_.
Zdpetio (kg Ees B g BT 3 D) Le s

.@.00.\1.@95":';9".“’.

R L
- S FRBA S F P AR BRI RIS EA R REHERL L
= BILEEE GRS I A PR R

VY R L I P AR L S BT KT B R
Sk SN IE LIV e SE NN S 2 A S

m s o AP B R AT % 2Btk E 0 B T ¢ 02-2201-7102 4 64 -

'



